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E-1 E-2 E-3 E-4 E-5 E-6 E-7 E-8 E-9 E-10 E-11 E-12 E-13 E-14 F-1
12 4 12 4 12 4 12 4 12 4 12 4
9:45 9:40 9:35 9:30 9:25 9:50
B 6,700 ND(21) ND(21) ND(21) ND(21) ND(21)
H-3 12 1,900 240 240 570 220 4,200
ND
Ba/L
E-1 E-2 E-3 E-4 E-5 E-6 E-7 E-8
B 710,000 11/10 650 9/4 570 9/18 1,300 9/15 100 9724 63 <9/9> 60 <8/13> 26 <6/11>
530 3,100 350
H-3 12 790,000 10/17 1075 <1/3> 7700<4/28> | 2600 <2/183/1>| 1y 10413 12/18 <1/1> 1,100 <2/19> 2300 11/13
E-9 E-10 E-11 E-12 E-13 E-14 F-1
B 14,000 <10/8> 160 <4/8> 110 <2/5> 37 <1/23> ND 40 <8/20> 16,000 11/28 36 <8/19>
H-3 12 51,000 11/25 54,000 <1/21> 1,000 <2/12> 2,900 <2/12> 690 <10/28> 640 <8/26> | 190,000 11/30 770 <2/25>
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